1.

6.

7.

GENERAL NOTES:

BERTHA H.V. BAHAMA SHUTTER SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) HAS BEEN
VERIFIED FOR COMPLIANCE IN ACCORDANCE WITH THE 2003 EDITIONS OF THE INTERNATIONAL BUILDING
CODE, (I.B.C.) AND INTERNATIONAL RESIDENTIAL CODE, (I.R.C.) WITH THE 2003 TEXAS REVISIONS,
EFFECTIVE JANUARY 1, 2005.

BERTHA H.V. BAHAMA SHUTTER SHALL BE INSTALLED AT SEAWARD AND INLAND AREAS, AS DEFINED BY
THE TEXAS DEPARTMENT OF INSURANCE.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1609 OF THE INTERNATIONAL BUILDING CODE,
FOR A BASIC WIND SPEED AS REQUIRED BY THE JURISDICTION WHERE SHUTTER WILL BE INSTALLED, AND
FOR A DIRECTIONALITY FACTOR Kd = 0.85, IN ACCORDANCE WITH ASCE 7-02 STANDARD.

BERTHA H.V. BAHAMA SHUTTER ADEQUACY FOR IMPACT AND CYCLIC RESISTANCE HAS BEEN VERIFIED IN
ACCORDANCE WITH SECTIONS 1609.1.4 AND R301.2.1.2 OF THE ABOVE MENTIONED CODES RESPECTIVELY,
AS PER AMERICAN TEST LAB REPORT # 0510.01-06, PER ASTM E 1886, E 1996 AND E 330 STANDARDS.

. SEE MAXIMUM PRESSURE RATING AND MAXIMUM SHUTTER DIMENSIONS ON SCHEDULE ON SHEET 7.
. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063—T6 ALLOY AND TEMPER, WITH

Fy=25.0 ksi MINIMUM (UNLESS OTHERWISE NOTED). THE THICKNESS OF ALL EXTRUSIONS SHALL BE AS
SHOWN ON THIS DRAWING WITH STANDARD TOLERANCES IN ACCORDANCE WITH THE "ALUMINUM STANDARDS
AND DATA 2003 EDITION”, ALUMINUM ASSOCIATION INCORPORATED, WASHINGTON D.C.

. ALL SCREWS AND BOLTS INSTALLED AT SEAWARD AREAS TO BE STAINLESS STEEL 304 OR 316 AISI SERIES

AND MEET ASTM A167, OR HOT DIPPED GALVANIZED (AFTER FABRICATION) CARBON STEEL AS PER ASTM A123
OR ASTM A153, OR HOT DIPPED GALVANIZED OR GALVANNEALED (PRIOR TO FABRICATION) AND MEET

ASTM A653 WITH 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH, PER 2003 TEXAS REVISIONS TO
SECTION 1716.1.1 OF THE 2003 [.B.C. AND SECTION R324.1.1 OF THE 2003 |.R.C.

. ALL SCREWS AND BOLTS INSTALLED AT INLAND | AREAS TO BE STAINLESS STEEL 304 OR 316 AISI SERIES

AND MEET ASTM A167, OR HOT DIPPED GALVANIZED (AFTER FABRICATION) CARBON STEEL AS PER
ASTM A123 OR ASTM A153, OR HOT DIPPED GALVANIZED OR GALVANNEALED (PRIOR TO FABRICATION)
AND MEET ASTM A653; HOT DIP GALVANIZED OR ELECTRO GALVANIZED PER ASTM A641, MECHANICALLY
DEPOSITED ZINC COATINGS PER ASTM B695 OR ELECTRO DEPOSITED ZINC COATINGS PER ASTM B633,
PER THE 2003 TEXAS REVISIONS TO SECTION 1716.1.2 OF THE 2003 |.B.C. AND TO SECTION R324.1.2.
OF THE 2003 I.R.C

ALL ALUMINUM POP RIVETS TO BE 5052 ALUMINUM ALLOY WITH ALUMINUM MANDREL.

ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)

(A) TO EXISTING WOOD FRAME WALL: SOUTHERN PINE No.2, G=0.55.
— 1/4"¢ TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX, INC.

NOTES:
A.1) MINIMUM THREADED PENETRATION OF TAPCON ANCHORS INTO WOOD SHALL BE 1 1/2".

A.2) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING

WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND
SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTES A.1).

(B) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS

OF THE ANCHOR’S MANUFACTURER.

8. EACH SHUTTER SHALL HAVE A LEGIBLE AND READILY VISIBLE MARKING INSTRUCTING OWNER OR
TENANT TO SECURE SHUTTER WITH SILL BRACKETS DURING PERIODS OF HURRICANE WARNINGS.

9. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE
STRUCTURE WHERE SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE. CONTRACTOR TO

SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT WITH THE
BUILDING TO PREVENT WIND/RAIN INTRUSION.

10. OWNER TO BE RESPONSIBLE FOR PROVIDING A SUITABLE PLATFORM OR BALCONY WHEN
SECURING UNIT DURING HURRICANE WARNINGS.

11. BERTHA H.V. BAHAMA SHUTTER’S INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS
DRAWING PLUS ANY BUILDING AND ZONING REGULATIONS PROVIDED BY THE JURISDICTION WHERE
PERMIT IS APPLIED TO.

12.  (a) THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) PREPARED BY THIS ENGINEER IS GENERIC
AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC PROJECT; i. e. WHERE THE SITE
CONDITIONS DEVIATE FROM THE P.E.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING

LIFE SAFETY OF THIS PRODUCT, BASED ON THIS PRODUCT EVALUATION DOCUMENT, PROVIDED HE/SHE
DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT

SITE IS THE CONTRACTOR'S RESPONSIBILITY.
(c) THIS PRODUCT EVALUATION DOCUMENT WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A PROFESSIONAL ENGINEER OR ARCHITECT
WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE
RESPONSIBLE FOR THE PROPER USE OF THE P.E.D. ENGINEER OF RECORD, ACTING AS A DELEGATED
ENGINEER TO THE P.E.D. ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE SPECIFIC DRAWINGS FOR
REVIEW.

(e) THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL
ENGINEER OF RECORD THAT PREPARED IT.

T.D.I. 2003
F.P.
ASSA / BERTHA H.V. BAHAMA SHUTTER DRAWN BY:
03/16/07
I I L I E c o AMERICAN SHUTTER SYSTEMS ASSOC.,INC. DATE
INC. 4268 WESTROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FLORIDA 33407 07-048
6355 NW. 36th. St. Ste. 305, VIRGINIA GARDENS, FI. 33166 PHONE (800) 432-2204  FAX (561) 209-8380
Phone : (305)87;:61—58%66?;9: (305)871-1531 REV. NO DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr., P. E. 1 3
FLORIDA Lic. 44167 2 2 SHEET 1 OF 7




375"
| o 187"
B} -9.209
o b
o N
S 9045
I e
©N
A Q_‘375”

(:) LOUVER BLADE

2.330”
&
\77f :$
Yo}
~
. 5
o o 093" |- Q]
@ ®
T i
N~
o
C A N ¢ )
f

(F) PRE=PUNCHED
CENTER MULLION

2z
s < !
=0 g
0 .
(TP ) |

(1).875” SERRATED TUBE
INSIDE ARM

1.385"

\

~—1.997"—

VIEW X

@ 905

29
‘%«v M)

-—1.000"—

() 1”_SERRATED TUBE

OUTSIDE ARM

COMPONENTS

SCALE: 3/4” = 1"

~—.380"

‘

@ CAMEL BACK HINGE

~—.910"——=—910"—

.400"

z.“\’ o>
P
@ -2 Lt
1 ? - T8
S 0 —H 397
bl ¢
|
%,
[&
| 1.820" |
@ TOP RAIL/MALE HINGE
‘k1.250"—>‘ ‘
t S !
_ o) o)
1 $ 3
5 3 T
- (@)
«‘ N 9/16"0
Min.
—t i ) HOLE
S8
N 58
9/16"s /f Mo
/Min(b./
HOLE
(:) CHANNEL
(2) 1/47- (3) 1/4%
HOLES HOLES
%} :(D
3
BLOCK f
. VIEWS 7
S
085" = = © N
e
- T
i . b
SRR N
= i ° 2
L J° g ] ]
—-—.940"— f 1.750”

ﬁ\b 2.330
-’\g/\ )
o o "o, 078
N =l |=—.071" ~ o (TYP.)
0 » ™ b
N N S ?
= -
V0o (G 5 .
A | 2
A \ V. M
L s < N
1.820" o ’
¥
(D) BOTTOM RAIL (E) JAMB 2.000"
VIEW Y
‘k1.250”4" ;
i 127
8 4.000" Min.
$ i |
o L
- o
7 3 = >
I : S b
Le) » »
o 1/4"9—20x1" LONG
k S.S. THUMBSCREW.
& 3 (H) LOCKING ROD
<
©
o
L]
$ °
S
©
WOOD *
T.D.I. 2003
ASSA / BERTHA H.V. BAHAMA SHUTTER SR B
03/16/07
I I L I E c o AMERICAN SHUTTER SYSTEMS ASSOC.,INC. DATE
INC. 4268 WESTROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FLORIDA 33407 07-048
6355 NW. 36th. St, Ste. 305, VIRGINIA GARDENS, Fl. 33166 PHONE (800) 432-2204  FAX (561) 209-8380
Phone : (305)871-1530 . Fax : (305)871—1531 DRAWING No

EB-0006719
WALTER A. TILLIT Jr., P. E.
FLORIDA Lic. 44167

REV. NO

DESCRIPTION

DATE

REV. No

DESCRIPTION

DATE

3

4

SHEET 2 OF 7




(c
(2) #14x2” F.H)

S.S.SM.S.
FROM JAMB (E)

TO TOP RAIL(C)

2 1/8” Min.

ONT. TYP.) @\(com.) pcse <c0NT.> po/e
o o o o D,/6
\ B
TIN(2) #14x2” FH.
7SS s.M.s.
j FROM JAMB (E)
|

BLADE
PENETRATION

E) -

(2) #14x2”
FH.'S.S. SMSY
FROM JAMB (E)
TO BLADE (A)

@ MID HEIGHT
TO BRACE JAMB

—®

TO TOP RAIL(C)

2 1/8” Min.
BLADE
PENETRATION

(2) #14x2”

e

F.H. S.S. S.MS.
FROM JAMB (E)
TO BLADE (A)
® MID HEIGHT
TO BRACE JAMB

/irTTﬁ‘FTTTﬁ‘FTTTﬁ‘FTTﬁ T T T T T T T T T T T T 11 TT

LJJALLLJJALLLJJALLJ! O O

SPAN "L” (SEE SCHEDULE, SHEET 7)

]
J B /4
8'/4 B

< ~
(52% #g;t/lxg” F.H. N (i%j:gﬁéé (;H.
?gogo#gm?@ L \ ) Lb| 10 BOTTOM RAIL®)
RAIL (D) \® \@ @ (G

G "W” (SEE SCHEDULE, |SHEET 7)
D/6

bc/e

BLOCK SUBSTRATE
SINGLE UNITS: CASE

p

D’ /6

o~
O

o

=z

—

N2

@ (CONT. TYP.)

be/s

(com.)

po/s

(2) #14x2" F.H. - - D'/5
S.S. SM.S.
FROM JAMB (E) \[— \ 5o oo ==
TO TOP RAIL(C) prome o o o ot ,
i T TA(2) #14x2" F.H.
i T [l SS. swms.
‘ i | FROM JAMB (E)
T T . 5|  TO TOP RAILTC)
\ \ \
I~ T Y B
- + ﬂ
i i ﬁ N
2 1/8" Min. | T T Ol 2 1/87 Min. N
BLADE | \ 71 | BLADE 5
PENETRATION |l 1 m _|| PENETRATION
L 4 /(F>\ ,J‘, ] 0
L 1 ~ ] -
g T ‘-'-'
©— ! ; i3 =
- + + - T
n ; | . 3
(2) #14x2” - (2) #14x2”
FA'SS SMSNe— 1 L —1 FA.SS. sms. i
FROM JAMB B) |- + T ~i| FROM JAMB(E) £
TO BLADE (A) |- + 4 —~| TO BLADEA)
@ MID HEIGHT | 1 ] 1 | @ MID HEIGHT
TO BRACE JAMB||_ 1 1 _I| TO BRACE JAMB
L 1 | il Z
\ \ T \ a
B T T B »
/4| T T -
B/4
SIMILAR t Ji, :7 j B/4
—d ‘r < 1~ < T T~ j\ <
(2) #14x2” F.H. f A/ 4— ’”’_A/ 4 A/ 4'_"t’_A/ 4 o (Szé#gaxg Fr
ST g hotn &
o BoTrom = I8 L ) ° olo i 1 2] To BOTTOM RAIL (D)
RALL (D) o \® \@> (CONT.) ®/ =G
G) ~—"W" (SEE SCHEDULE| SHEET 7)—~~"W" (SEE SCHEDULE, SHEET 7)-—~—"W" (SEE SCHEDULE, SHEET 7)—{~
120" Max. WIDTH D/5

ELEVATIONS

N.T.S.

bc/s

WOOD SUBSTRATE

MULTIPLE UNITS: CASES I

&

P o

/s

T.D.I. 2003
F.P.
ASSA / BERTHA H.V. BAHAMA SHUTTER DRAWN BY:
03/16/07
I I L I E c o AMERICAN SHUTTER SYSTEMS ASSOC.,INC. DATE
INC. 4268 WESTROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FLORIDA 33407 07-048
6355 N.W. 36th. St., Ste. 305, VIRGINIA GARDENS, FI. 33166 PHONE (800) 432-2204  FAX (561) 209-8380
Phone : (305)87&61_58%6?){ 9 (305)871-1531 eV esourTon T —somon — DRAWING No
WALTER A. TILLIT Jr., P. E. 1 3
FLORIDA Lic. 44167 2 < SHEET 3 OF 7




CONCRETE HOLLOW BLOCK

REQUIRED @ CORNER (Typ.)x

3” FOR TAPCONS E’r/
3 1/2” FOR SOLID—SETS f~

2" x 4" WOOD_____
STUDS REQUIRED
@ CORNER (Typ.)

(2) 1/4”¢ TAPCONS OR Min. E.D.
(2) 1/4"8x3/4” ALL POINTS
SOLID—SET. |
! W/ INTERIOR WEB X (® W/ INTERIOR WEB
NOTCHED AT (4) 3/167¢ BLADE NOTCHED AT
BOTTOM RAIL (O ALUMINUM (TYP.) BOTTOM RAIL (D)
POP RIVETS
/ 5/16"x2” SLOT @ BACK & FRONTZ @_\ 5/16%2" SLOT
i_ _____ 7o) —7 - |\ ¥ T I / B v e B N~ v 1 oull _i
G |- x
(2) #14x2” FH. SS. sMs. — Nl W | N I = S | = T | R | B | _
FROM JAMB (E)TO BOTTOM RAIL (D) = = AT \®
+ (2) #14x2” FH. S.S. S.M.S. *sz‘O/C‘%ghOT 2" B W/ WEB A L@ ~ BLADE PENETRI’;:I'ION"
NOTCHED AT —=| 2 7/8” THUMBSCREW LOCATION

FROM JAMB (E) TO BLADE (A)

@ MID HEIGHT TO BRACE JAMB
SECTION B’-B’

() W/ INTERIOR WEB

(2) #14x2” F.H.

BOTTOM RAL®  SECTION A—A

PLAN

SCALE: 3/8” = 1"

(2) #14x2” F.H.

SECTION B-—B

|——

(3) 1/4"8 TAPCONS W/

1

1/2"” Min. THREADED

PENETRATION TO WOOD

G
| \(2) #14x2” F.H. S.S. SIM.S.

FROM JAMB (E) TO BOTTOM RAIL (D)
+ (2) #14x2” F.H. S.S. SMS.
FROM JAMB (E) TO BLADE (A)

@ MID HEIGHT TO BRACE JAMB

2" x 4" WOOD

STUDS REQUIRED
@ CORNER (Typ.)

S.S. S.M.S. S.S. S.M.S. W/ INTERIOR WEB
CONCRETE HOLLOW BLOCK E W/ WEB
REQUIRED @ CORNER (Typ.) ESI%'&DRQ.TL@ FROM JAMB (E) NOTCHED AT BLADE FROM JAMB (E) NOTCHED AT
TO BOTTOM RAIL (D) BOTTOM RAIL ©) (TYP) TO BOTTOM RAIL (D) BOTTOM RAIL (D
RTINS I { % 7 % = - \. -
L ®\ L 2 1/8" Min. || L 21/8" Min. | /@ R W
e L o | BLADE PENETRATION BLADE PENETRATION RS ¥ -
@\ L SN S KN N T R W | N B R
b AR ) ) s i R ~. ol
.625”'.625",/@" -
g oy R '~\’: R
= =1
- T
L ww&wmw%{“&\ﬁ\;% ,; A P i — T T T U
~ | — ~ —_— 3
. 1/4"8-20 S.S§5/16;'x2"& R G N e e % NUs/16%2" N e
-8 . S0 a7 LoNG- o stoT - @ s Ll - |1/#9-20 Ss> |- sloT '
S THUMBSCREW. -1~ " . " . LN “{x1° LONG I IR ;
: S b T oo POP RIVETS. — S ' ITHUMBSCREW. |- © . -, <]
-2 7/8" THUMBSCREW * - ’ . "BACK & FRONT "~ . gl 2 1/47SlOTC :
. - LOCATIOI.\I. NPT L oo - . KR e - LOCATION :C)
“(2) 1/4"@ TAPCONS OR R - (3) 1/4"8 TAPCONS W/—|| = =
(2) 1/479x3/4” ALL POINTS S " 11/2” Min. THREADED * &
*: SOLID—SET. -+ PENETRATION TO WOOD ~ -3

ELEVATION Zf \

SCALE: 3/8" = 1"

EB—0006719
WALTER A. TILLIT Jr., P. E.
FLORIDA Lic. 44167

REV. NO DESCRIPTION

DATE

REV. No

DESCRIPTION

DATE

T.D.I. 2003
F.P.
ASSA / BERTHA H.V. BAHAMA SHUTTER DRAWN BY:
03/16/07
I I L I E c o AMERICAN SHUTTER SYSTEMS ASSOC.,INC. DATE
INC. 4268 WESTROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FLORIDA 33407 07-048
6355 N.W. 36th. St., Ste. 305, VIRGINIA GARDENS, FI. 33166 PHONE (800) 432-2204  FAX (561) 209-8380
Phone : (305)871—1530 . Fax : (305)871—1531 DRAWING No

3

4

SHEET 4 OF 7




| |~ REQUIRED

V Min. THREADED PENETRATION

WOOD HEADER

1/4"8 TAPCONS W/ 1 1/2"
N
(SEE SCHEDULE) g

@ Cont.

Min. SEPARATION
TO GLASS

(4) 3/167
ALUMINUM

POP RIVETS
BACK & FRONT

o~ |
Y F)W/ WEB

Ny Ny NOTCHED AT
NN TOP RAIL
AN

AN TYP.
N \‘/r@( )

N
\§ \\\\
\§ \\\
\\ N Cont.
- N\
N (ONLY FOR SINGLE UNITS)
\\ A
\\\\\ Cont.
NN
250" MAX. GAP N 1ff (ONLY FOR MULTIPLE UNITS)

\
\
\
\
\
\
\
T(SEE SCHEDULE)
\
|
\
\
\
I
\
\
\
\
\
\
\
\

. : / REQUIRED

WOOD HEADER

1/4"% TAPCONS W/ 1 1/2"
Min. THREADED PENETRATION
(SEE SCHEDULE)

#14x2” F.H.
S.S. SIMS.
FROM JAMB (E)
TO TOP RAIL(C)

FROM JAMB

L E)w/ wes
NOTCHED AT
BOTTOM RAIL(D)
£ 1
= x4 T
N WOOD :,
> PLATE (4) 3/16" N
~ REQD ALUMINUM -
POP RIVETS -
|/ BACK & FRONT #
~
1
WOOD STUD @
24" 0. C. MAX: WOOD STUD @
REQUIRED 24" 0. C. MAX:

SECTION C = C

(WALL MOUNT)

HURRICANE POSITION

SCALE: 3/8" = 1"

1/4"8—20 THUMB SCREW

\1/4" @-20 BOLT W/ WINGNUT

REQUIRED
SECTION D = D
(WALL MOUNT)
NON HURRICANE POSITION
SCALE: 3/8" = 1"

CONNECTION TO WOOD

(3) 1/4" TAPCONS W/
1.1/2” MIN. PENETRATION TO STUD
(MIDWIDTH OF STUD, 2” MIN. NOMINAL)

@@ EACH JAMB
LOCATION

==,

©
D
i
(2) #14x2" F.H.
S.S. SM.S.
FROM JAMB (E)

TO BOTTOM RAIL @)

A\ ®

5 @\ BOTTOM RAIL (D)
N\ O
}_‘Qﬁ

Cont.

WOOD HEADER

; / REQUIRED

1/4"% TAPCONS W/ 1 1/2"
L Min. THREADED PENETRATION
(SEE SCHEDULE)

#14x2” F.H.
N\ S.S. S.M.S.
FROM JAMB (E)
TO TOP RAIL (©)

(2) #14x2” FH. S.S. SMS.
(E)TO BLADE (A)
@ MID HEIGHT TO BRACE JAMB

INTERIOR WEB
NOTCHED AT

(2) 3/16"¢ Alum.
POP RIVETS

1/4" —20 BOLT W/NUT

-1 1/2" =1 1/2"

WOOD STUD @

24" 0. C. MAX:

REQUIRED

\1/4" #—20 BOLT W/ WINGNUT

(3) 1/4" TAPCONS W/
1 1/2" MIN. PENETRATION TO STUD

(MIDWIDTH OF STUD, 2” MIN. NOMINAL)

ALTERNATE SECTION D’-D’

(WALL MOUNT)
NON HURRICANE POSITION

SCALE: 3/8” = 1"

FROM JAMB

\
D
)

'\ BOTTOM RAIL(D)
S

@
(e
@ EACH JAMB -
LOCATION =,
©
1/4"6—20 THUMB SCREW ;‘/ @
(2) #14x2" F.H.
S.S. S.M.S.
FROM JAMB (E)

TO BOTTOM RAIL ©)

(2) #14x2” FH. S.S. SMS.
(E)TO BLADE (A)
@ MID HEIGHT TO BRACE JAMB

(E)INTERIOR WEB
NOTCHED AT

Cont.

T.D.l. 2003
F.P.
ASSA / BERTHA H.V. BAHAMA SHUTTER DRAWN BY:
03/16/07
I I L I E c o AMERICAN SHUTTER SYSTEMS ASSOC.,INC. DATE
INC. 4268 WESTROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FLORIDA 33407 O7_O48
6355 NW. 36th. St. Ste. 305, VIRGINIA GARDENS, FI. 33166 PHONE (800) 432-2204  FAX (561) 209-8380
: (305871-1630 . Fox @ (305)871-1631 —— o —T o — DRAWING No
WALTER A. TILLIT Jr., P. E. 1 3
FLORIDA Lic. 44167 2 2 SHEET 5 OF 7




CONCRETE OR
CONCRETE BLOCK ~ ™~
HEADER REQUIRED

1/4"8 TAPCONS
W/ 1 3/4" Min.

EMBEDMENT
(SEE SCHEDULE)

@ Cont.

2 1/2" Min.

1/4"¢ TAPCONS
W/ 1 3/4" Min.

EMBEDMENT
(SEE SCHEDULE)

CONCRETE OR

CONCRETE BLOCK

I
I
z I Il
s iim} © mil
o
N (4) 3/16"
ALUMINUM
POP RIVETS
I/ BACK & FRONT
; iim} &) il
‘ O ™
‘ (\\\\ F)W/ WEB
NN NOTCHED AT
\ AN N TOP RAIL
N NS
| N
| Min. SEPARATION @\
-~ TO GLASS NN (e
| (SEE SCHEDULE) AN :
\ NN
‘ AN
V)
EXISTING @\
GLASS
\ NN
RN
| N
| / s
‘ W '
[
\ Q\
N
\ AN
AN
‘ \\s\v:\g) Cont.
} @\ (ONLY FOR SINGLE UNITS)
A AN
\ AN Cont.
AN
\ .250" MAX. GAP A \“5 (ONLY FOR MULTIPLE UNITS)
QN
| N
| A \\\
RN
SN\ FEw/ wes
N\ /| NOTCHED AT
s /| BOTTOM RAIL (D)
[::I ég O
CONCRETE OR
CONCRETE BLOCK (4) 3/16"
REQUIRED ALUMINUM
POP RIVETS
| I/ BACK & FRONT
[_e‘j Q O

Cont.

SECTION C - C

(WALL MOUNT)
HURRICANE POSITION
SCALE: 3/8" = 17

CONCRETE OR BLOCK

CONNECTION TO

WALL REQUIRED

. 1/4"8 TAPCONS
4 Y W/ 1 3/4” Min.

> EMBEDMENT
(SEE SCHEDULE)

#14x2" F.H.
S.S. S.M.S.
FROM JAMB (E)
TO TOP RAIL (O

(E)INTERIOR WEB
NOTCHED AT
\ TOP RAIL (C)

\]

(2) #14x2” FH. SS. SMS.
FROM JAMB (E) TO BLADE
@ MID HEIGHT TO BRACE JAMB

(E)INTERIOR WEB
\/ NOTCHED AT

\ BOTTOM RAIL
‘oﬁ
@@ EACH JAMB S
LOCATION k‘
A
1/4"8—20 THUMB SCREW

(2) #14x2" F.H.
S.S. S.M.S.

FROM JAMB (E)

TO BOTTOM RAIL @)

1/4” 8—20 BOLT W/ WINGNUT

| _(2) 1/4"8 TAPCONS W/ 1 1/4” Min.
EMBEDMENT ONLY @ SINGLE UNITS
& (2) 1/4"8x7/8” ALL POINT
SOLID—SET AT MULTIPLE UNITS

SECTION D - D
(WALL MOUNT)

NON HURRICANE POSITION
SCALE: 3/8” = 17

CONCRETE OR
CONCRETE BLOCK
WALL REQUIRED

#14x2" F.H.
S.S. SM.S.
FROM JAMB (E)
TO TOP RAIL(C)

(E)INTERIOR WEB

(2) #14x2” FH. S.5. SM.S.
FROM JAMB (E) TO BLADE
@ MID HEIGHT TO BRACE JAMB

(2) 3/16"¢ Alum.
POP RIVETS

1/4" 8—20 BOLT W/NUT

(E)INTERIOR WEB
NOTCHED AT
BOTTOM RAIL (D)

»
@ EACH JAMB

LOCATION <A

L1/4'¢—20 THUMB SCREW
v
(2) #14x2” F.H.
S.S. S.M.S.

FROM JAMB (B)
TO BOTTOM RAIL D

\1/4" ©-20 BOLT W/ WINGNUT

| (2) 1/47¢ TAPCONS W/ 1 1/4” Min.
EMBEDMENT ONLY @ SINGLE UNITS
& (2) 1/4"0x7/8" ALL POINT
SOLID—SET AT MULTIPLE UNITS

ALTERNATE SECTION D’-D’

(WALL MOUNT)
NON HURRICANE POSITION

SCALE: 3/8” = 17

T.D.l. 2003
F.P.
ASSA / BERTHA H.V. BAHAMA SHUTTER DRAWN BY:
03/16,/07
I I L I E c o AMERICAN SHUTTER SYSTEMS ASSOC.,INC. DATE
INC. 4268 WESTROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FLORIDA 33407 07-048
6355 NW. 36th. St. Ste. 305, VIRGINIA GARDENS, FI. 33166 PHONE (800) 432-2204  FAX (561) 209-8380
: (305)87;:61—58%66?;9: (305)871-1531 REV. NO DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr., P. E. 1 3
FLORIDA Lic. 44167 2 2 SHEET 6 OF 7




SCHEDULE # 1

MAXIMUM SHUTTER SPAN "L" (in), MAXIMUM SHUTTER WIDTH "W" (in) FOR SINGLE (CASE |) &

MULTIPLE (CASES Il & IlI) UNITS FOR A CORRESPONDING DESIGN PRESSURE

SINGLE_UNITS ELEVATION MULTIPLE_UNITS ELEVATIONS
CASE | : WALL MOUNT CASE 1l : WALL MOUNT CASE Il : WALL MOUNT
BAHAMA ! !
SHUTTER T
ELEVATIONS
=W W— W W f=—W
W I——DOUBLE UNITS——I TRIPLE UNITS
__| SINGLE |__
UNITS
DESIGN
CASE PRESSURE MAXIMUM UNIT [ MAXIMUM SPAN | INTERIOR MULLION |MINIMUM SEPARATION
RATING WIDTH "W” (IN) "L” (IN) TYPE REQUIRED | TO GLASS (IN)
(p.s.f.)
+45.0 , —=55.0 490" 97" N /A 4 5/8”
& Il +45.0 , =50.0 40" 70" @ 3 5/8"

SCHEDULE # 2
MAXIMUM ANCHOR SPACING AT TOP FEMALE HINGES@
FOR SINGLE (CASE [) & MULTIPLE (CASES Il & Ill) UNITS
FOR A CORRESPONDING DESIGN PRESSURE & SUBSTRATE TYPE

DESIGN SUBSTRATE
CASE PRESSURE POURED CONCRETE
RATING WOOoD
(p.s.f.) SOUTHERN PINE No.2 CONCRETE BLOCK
+45.0 , =55.0 N/A 12 0"
& I +45.0 , —50.0 7 1/2" N/A

T.D.l. 2003
ASSA / BERTHA H.V. BAHAMA SHUTTER oRAR B
03/16,/07
I I L I E c o AMERICAN SHUTTER SYSTEMS ASSOC.,INC. DATE
INC. 4268 WESTROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FLORIDA 33407 07-048

6355 N.W. 36th. St. Ste. 305, VIRGINIA GARDENS, FI. 33166
Phone : (305)871-1530 . Fax : (305)871—1531
EB—0006719
WALTER A. TILLIT Jr., P. E.

FLORIDA Lic. 44167

PHONE (800) 432-2204

FAX (561) 209-8380

REV. NO

DESCRIPTION

DATE REV. No

DESCRIPTION

DATE

DRAWING No

3

4

SHEET 7 OF 7




